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Stats/Normal distribution: Finding a probability, basic

Using ALEKS Calculator:

Suppose that the annual rate of return for a common biotechnology stock is normally distributed with a mean of 5.5% and a standard deviation of 6%. Find the

probability that the one-year return of this stock will be negative. Round your answer to at least four decimal places.
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Normal distribution: Finding a probability, basic

beats
minute

Suppose that pulse rates among healthy adults are normally distributed with a mean of 79

beats
minute

healthy adults have pulse rates that are at least 61 ? Round your answer to at least four decimal places.
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How to do itin Excel:

Normal distribution: Finding a probability, basic
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Suppose that the antenna lengths of woodlice are approximately normally distributed with a mean of 0.2 inches and a
standard deviation of 0.05 inches. What proportion of woodlice have antenna lengths that are at least 0.27 inches?
Round your answer to at least four decimal places.

<
Another Explanation )

and a standard deviation of 10

Calculator

0-55

PZ=< )

m Recal Lo

x 2 X 3.
sot | OO, ( )
Ix n! log In
Pr “cl 10 e
4] to *h Fo

P@Es() Pe>[) Pu>[) P(F>])

PEo.os) XY + T

74 8 9 =

a4 5 6 x

A, 2 3 -

0 = +
beats

. What proportion of

minute

Calculator

61 —-79

X £x2 X S
sort | O0.. ( )

Ix nt log In
Py ok 10% o
zn g h Fo

Pes[) Pa>0) Pu=[) PF>[)

PBo. o) X - - m
7 8 9 *
4 5 6 x
1 2 3 -
[} = +

Show Another

A B c D
; Wh:t youare - answer Formula
inding
3 Mean 0.2 Type in from problem
4 Standard Deviation 0.05 Type in from problem
5 Data Value 0.27 Type in from problem
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Percentage to the left
Percentage to the right

0.9192433408 =NORMDIST(BS5, B3,B4,1)  This gives you the area to the left
0.08075665923 =1-NORMDIST(B5, B3, B4,1) But we want the area to the right, so do 1 - that number
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